1. Under standard conditions, a solution containing A and its reduced form
AH:2 has a standard electrode potential of -0.6 V. A solution containing B
and BH: has a standard potential of -0.16 V. If a cell were constructed with
these two systems as half-cells, would AHz be oxidized by B or BH: oxidized
by A? What would be the reversible emf of the cell?
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2. The solubility of AgCl in water at 25 °C is 1.274 x 10-5 mol dm-*. On the
assumption that the Debye-Hiickel limiting law applies,
a. Calculate AG® for the process AgCl(s) - Ag*(aq) + Cl-(aq).
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b. Calculate the solubility of AgCl in an 0.005 M solution of KzS0..
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3. A0IM solu)t/lon of sodlun? pglmltale, Ci5H3:CO0Na, is separated froma 0.2
M solution of sodium chloride by a membrane that is permeable to Na* and
Cl- ions but not to palmitate ions. Calculate the concentrations of Na*and
Cl- ions on the two sides of the membrane after equilibrium has become
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